Example 2

The specified period is the year to 31/12/2010
The company has drawn up accounts to

· 31/03/2010

And

· 31/12/2010

It therefore has two APs which end in the same specified period.  It delivers both returns late.

If you determined each penalty and each increase in penalty separately, the numbers will be

	APE

31/03/2010

	APE

31/12/2010

	Date

Incurred


	Penalty number


	Version number



	£100


	
	1/04/2011

	01/


	01



	£200 (original £100 + further £100)


	
	1/07/2011

	01/


	02



	10%


	
	1/10/2011

	02/


	01



	
	£100


	1/01/2011

	01/


	03



	20%


	
	1/04/2012

	02/


	02



	
	£200 (original £100 + further £100)


	1/04/2012

	01/


	04



	
	10%


	1/07/2012

	02/


	03



	
	20%


	1/07/2013

	02/


	04




If you amended the tax on which the tax-related penalty is based, the amended tax-related penalty determination number would be 02/05.

This would not affect any other number.

